

اجابة الامتحان الثاني

	7	6	5	4	3	2	1	رقم السؤال
	ج	ب	پ	پ	پ	ب	پ	الاجابة

$m_1 = 2 \text{ kg}$
 $F = 20 \text{ N}$
 $\Delta t = 0.5 \text{ (s)}$
 $v_{2i} = 0$
 $m_2 = 1 \text{ kg}$

① $F = \frac{m(v_f - v_i)}{\Delta t}$ كلمة ونقطة

$\frac{20}{1} = \frac{2(v_f - 0)}{0.5}$
 $10 = 2v_f \rightarrow v_f = 5 \text{ m/s}$

$v_{1i} = 5 \text{ m/s}$

صير الحركة بعد القوة وقيل التفاعل

$\Sigma P_i = \Sigma P_f$

$m_1 v_{1i} + m_2 v_{2i} = (m_1 + m_2) v_f$ كلمات

$2 \times 5 + 0 = (2 + 1) v_f$
 $10 = 3 v_f \rightarrow v_f = 3.33 \text{ m/s}$

② $I_2 = m_2 (v_{2f} - v_{2i})$

$= 1(3.33 - 0)$
 $= 3.33 \text{ N.s}$
كلمة ونقطة

③ $\Delta K = \Sigma K_f - \Sigma K_i$

$= \frac{1}{2} (m_1 + m_2) v_f^2 - \left(\frac{1}{2} m_1 v_{1i}^2 + \frac{1}{2} m_2 v_{2i}^2 \right)$
 $= \frac{1}{2} (1 + 2) \times 3.33^2 - \left(\frac{1}{2} \times 2 \times 5^2 + 0 \right)$
كلمات

$= -8.33 \text{ J}$
 يعني ان الطاقة خائفة

①

$$① m_1 = 2 \text{ kg}$$

$$h_{1i} = 5 \text{ m} \rightarrow v_{1i} = \sqrt{2gh} \rightarrow v_{1i} = \sqrt{2 \times 10 \times 5}$$

$$② v_{2i} = 0$$

$$③ m_2 = 4 \text{ kg}$$

$$h_{2f} = 1.8 \text{ m} \rightarrow v_{2f} = \sqrt{2gh_{2f}} = \sqrt{2 \times 10 \times 1.8}$$

$$v_{2f} = \sqrt{36}$$

$$④ v_{2f} = 6 \text{ m/s}$$



$$K = U$$

$$\frac{1}{2} m v^2 = m g h$$

$$v = \sqrt{2gh}$$

$$\sum p_i = \sum p_f$$

$$m_1 v_{1i} + m_2 v_{2i} = m_1 v_{1f} + m_2 v_{2f}$$

$$2 \times 10 + 4 \times 0 = 2v_{1f} + 4 \times 6$$

$$20 = 2v_{1f} + 24 \Rightarrow -4 = 2v_{1f} \Rightarrow v_{1f} = -2 \text{ m/s}$$

$$② v_{1f} = \sqrt{2gh_{1f}}$$

$$(-2) = \sqrt{2 \times 10 \times h_{1f}}$$

$$\frac{4}{20} = \frac{2gh_{1f}}{20}$$

$$h_{1f} = 0.2 \text{ m}$$

$$③ \Delta K = \sum K_f - \sum K_i$$

$$\Delta K = \sum K_f - \sum K_i$$

$$= \left(\frac{1}{2} m_1 v_{1f}^2 + \frac{1}{2} m_2 v_{2f}^2 \right) - \left(\frac{1}{2} m_1 v_{1i}^2 + \frac{1}{2} m_2 v_{2i}^2 \right)$$

$$= \frac{1}{2} \times 2 \times 2^2 + \frac{1}{2} \times 4 \times 6^2 - \frac{1}{2} \times 2 \times 10^2 + \frac{1}{2} \times 4 \times 0$$

$$= 4 + 72 - 100$$

$$\Delta K = -24 \text{ J}$$

لغاً في صو

②

$$V_{1i} = V$$

$$V_{2i} = 0$$

$$V_{1f} = -\frac{1}{3}V$$

$$V_{2f} = V_{2i}$$

$$\Sigma P_i = \Sigma P_f$$

$$V_{2i} = V_{2f}$$

سوال

$$V_{1i} - V_{2i} = V_{2f} - V_{1f}$$

$$V - 0 = V_{2f} - (-\frac{1}{3}V)$$

$$V = V_{2f} + \frac{1}{3}V$$

$$-\frac{1}{3}V \quad -\frac{1}{3}V$$

$$\frac{2}{3}V = V_{2f}$$

سوال

سوال

$$\Sigma P_i = \Sigma P_f$$

$$m_1 V_{1i} + m_2 V_{2i} = m_1 V_{1f} + m_2 V_{2f}$$

$$m_1 \cancel{V} + 0 = m_1 \frac{1}{3} \cancel{V} + m_2 \times \frac{2}{3} \cancel{V}$$

$$m_1 = \frac{1}{3}m_1 + \frac{2}{3}m_2$$

سوال

$$+\frac{1}{3}m_1 \quad +\frac{1}{3}m_1$$

$$\frac{4}{3}m_1 = \frac{2}{3}m_2$$

$$\frac{4}{2}m_1 = \frac{2}{2}m_2 \rightarrow$$

$$m_2 = 2m_1$$

دو برابر است

3